
 

Exercise GF 16 A

Qb A 3,15
BC 3,3 B

I l l l s c 17 5 16 D 16
1 8,0 e

z

a gradAB 15 3 iz
lb

3 13 I

gradBC 3 5
is i I

x I l AB and Bo are C

and WABC is right angled

b L ABC angle in semi circle
AC is a diameter

centre of circumcircle I 5 5
Z

2,5

Radius Ac

Ad J 3 272 15 55

J 100 t 400 1500
to SF



Radius 555

Circle is x 2 Zt y 55 125

c A B C on circle since it is the
Circuacciale of OABC

1 8,0 8 2 t o 5
2

125

102 55 125

100 t 25 125
e D also on circle

Mixed Exercise 6

3 X't 3 5 by 3 x 2g 7

ay se t y t 8g 7

x't 45 16 7

x't gta 3

Centre 0 a radios 3

b On y axis x so



02 t yea 9

yt4 I3

y I3 4

C or y 7

Intersects y axes at o 1 and 0 7

c On x axis y 0

X t Otc
2 9

2 t 16 9
2 9 16
2 7

No solution i circle does not
intersect x axis

7 3 c y 9 0 does not intersect

CZ pact y2 1 4 20

y 3 9

no roots for

ftp.c 3 95 t4C3x a 20



K put 9
2 54 811 12 36 20 0

10 2
Lp 42 x t 25 0

no roots b 4ac CO

P 425 4 10 25 LO

p 425 1000

lot P 42 L 1050

lot 42 c p 105101 42

Da Ffs mf TE
M 4 a

grad AB Iz 3

grad of C

y y n x x

j 4 x a

y f x g ta

y Tx tf



b CC 2 g s IC 2 tf
y Zz TG f 2

2,2

c Area I last Incl

ABI J 3 55th if I 40

Mcl f 4 25 4 2 f 40

Area t Tao x 540

20 units
2

19 x Gx y2 2g 7

x 35 9 15 1 7

at 3
2

5 1
2 17

Centre 3,1 radius 517

Lz of C he form

next 6

One point of intersection with circle



Sos in circle

xx t mx 55 17
2 6 1 9 t Tsi t lo ma t 25 17

th t lout 6 x t 17 0

One roots se b Gac 0

Ion 65 4 Itn xp to

100m t Rom t 36 68 68in so

3 ZI t Ro m 32 0

4 I t 15in 4 to

Gim 1 m c x O

h I n 44

ez y Ix t G

C y 4 6

b x 3 t y D 17

x 35 x 53 17

2 6 9 t TGI tix 25 17

of t se t n to se 4



y C a 6

y 5

P C d 5

Xt 35 4 5 17

2 6 9 1 165 40 25 17 0

17 2 34 1 17 0
x

y 4G 6

4 2

QC 1,2

R 0,6 grad Pr of
P f4,5 gradA 2 I

I I
y C Q 1,2I 11

grad QR 4AC 3,1
goal AP k

r a square
Area radius radius 2

Th x 517 17 units



Huk Mixed Exercise 6 Even Numbers


